Accelerated 3-month Course
IIT/NEET

We are not a school. These are additional classes.
Last admission date: Mar 31, 2025
Course Duarion: Mar 23 - June 30, 2025
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We only labor to stuff the memory,
and leave the conscience and the
understanding unfurnished and void.

- Michel De Montaigne




About this program

* Designed for students entering Class XI
(appeared for Class X board exams).

» Targets 75% of the NEET/JEE syllabus
within 3 months.

* Emphasizes deep conceptual
understanding over rote memorization.

e Subjects: Physics, Chemistry,
Mathematics, and Biology.

+91 75699 33343 info@xcelvations.com




Course Schedule

e Start Date: March 23, 2025

 End Date: June 30, 2025

 Daily 1-hour live session

e Optional 30-minute support sessions

+91 75699 33343 info@xcelvations.com



Course Highlights

* 100% Online program using our custom-built platform
* Batch size: Maximum 6 students

* Open-source books and learning materials

e Session recordings and digital notes provided

e Regular performance evaluation and feedback



What's Next After 3 Months?

 After syllabus completion, students may choose to continue in the
next phase: a 2-year program focused on exam strategy and advanced
practice.

* This extension is optional and designed for serious NEET/JEE
aspirants.
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Form 2-letter words from letters r, k, v, g, f, u, x. The words need not be meaningful
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Find the ratio of numbers 0.014, 0.031 and 0.58
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The greatest commaon divisor (GCD) of the numbers 27,12 and 3 = .

To get ratio, we have to divide the numbers by the GCD.
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Sorted Numbers:
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Msrium haz 7 farm. Esch farm haz 2 garden. Esch garden has 60 tree. Esch tree has 10 fruit

cost of maintaining each tres is 30.5. Answer the following questions:

1. What is the total number of farm?
2. What is the total number of garden?
3. What is the total number of tree?

4. What is the total numbser of fruit?
&. What is the total number of box?

&. What is the total sales value?

T. What is the total cost?

8. What is the net profit?

1 ke.printSolution{)
The equation of the question are as follows:
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I tree =20 fruit

1 fruit = & box

17
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The distinct values are:
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Solution:
Arranging k out of m things.

Az we start with mthings and r places:

1. For first place, we can choose any item from a things, so we have nchoices.

2 For second place, we can choose any item from remainderm — | things, sowe have n
3. For third place, we can choose any item from remainder i — 2things, sowe have m —

Thus, for kth place, the choicewillber —(k— Y= -k + 1
Manw, all choices are dependent on each other, so will get a product to get the result.
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) ) ) 8. _problem_traditional_division
Find formula of cos (A — B) and sin (A — B) Fire sopresimate ez of the sauare reataf 1030 1. _problem_divisible by multiples_of_18
Answer ke printinswer(] 2. problem divisible by 4 8
cos (A — B) = sin(A) sin (B) + cos (A) cos (B) 10,10 3. _problem divisible by 2 5
4, problem_divisible by 3 9
sin(A — B) = sin (A)cos (B) — sin ( B) cos (A) ke . printSolution{) 5. _problem_divisible by 6
it @+ —at + %:ﬂl_] L 6. _pr"cuhlem_d%v%sz:the_hy_?_B_l?_19_29
A=) _ A il 7 problem divisible by 11
—.ﬂ'_;+la'_;-b+--- L

— isin(A — B) + cos (A — B) = (isin (A) + cos (A)) (—i sin (B 3 |5 733100 divisible by 77

Letx = a1 Answer
= isin{A — B)+cos(A — B) = sin(A)sin (B + isin (A) cos | False

. . 22! = a3 o
Taking real terms of both sides: Solution:
= cos{A — B) = sin(A)sin (B) + cos (A) cos (B) 1z We will apply last digit reduction meth
#ﬁ = The reduction factor for 7 is -2.
Taking imaginary terms of both sides:
— sin(A — B) = sin (A) cos (B) — sin (B) cos (A) =(a+ b} m+%ﬁl.& Step 1: Number = 733100
-2 times of the last digit of 733100

The closest perfect 3 power of 2 number iz 1000 = 108 =2*0=0
Frove Therefore,
e = cos (0) + i sin (6) Remaove the last digit from 733100

1030 = 1000 + 30 73310
Anzwer:
i . [ it a i =a= 1000 Add 0 from 73310
l=1+i0- -+ + = +0(F

] 6 24 [E { } =T73310 + 0 =73310
b=3D
s '
cos(f) =1 - 5 + 3; + O (&) , Step 2: Number = 73310
x= 10003 =10

) 7 @ -2 times of the last digit of 73310
mn(ﬂ}:ﬂ—;+ﬁ+ﬂ{ﬂﬁ} =2*0=0
(1030)7 = (1000 + 30)3

— ¢l = pos () + isin (0) Remove the last digit from 73310

11 = 7331
seuten =xt3act Add 0 from 7331
in _ g_T _w 0 W
el =1+i0-% -2 + = + &L +0(6F) . 7331 - 02 7331
= Iﬂ+§- F.fm
cos(@) =1 - % + & +0(6F) : Step 3: Number = 7331
104+ = -2 times of the last digit of 7331
5iﬂ(ﬂ}=ﬂ—%+%+ﬂ{ﬂﬁ} 300 =2%1=_2
) . = 10+0.1 Remove the last digit from 7331
— ¢ = cos (0) + i sin ()
=101  +9] 75699 33343 info@xcelvations.com

Plezze note that the actuzl root iz 10U10
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